

# A Note on Global Behaviour of Solutions and Positive Nonoscillatory Solutions of Rational Difference Equation

Vu Van Khuong and Tran Hong Thai

Department of Mathematics  
Hung Yen University of Technology and Education  
Hung Yen Province, Vietnam  
vuvankhuong@gmail.com  
hongthai78@gmail.com

## Abstract

In this paper we study the global behaviors of solutions of the rational difference equation

$$x_{n+1} = \frac{g(x_n, x_{n-1}, x_{n-2}, x_{n-3})x_{n-3}^{\alpha+1} + f(x_n, x_{n-1}, x_{n-2}, x_{n-3})}{g(x_n, x_{n-1}, x_{n-2}, x_{n-3})x_{n-3}^{\alpha} + f(x_n, x_{n-1}, x_{n-2}, x_{n-3})}, n = 0, 1, 2, \dots$$

where  $f, g : (0, \infty)^4 \rightarrow (0, \infty)$  is arbitrary and differentiable,  $\alpha \geq 0$ .

We also study the positive nonoscillatory solutions of the rational difference equation

$$x_{n+1} = \frac{A_1}{(x_n x_{n-1})^\alpha} + \frac{A_2}{(x_{n-1} x_{n-2})^\alpha} + \dots + \frac{A_{k-1}}{(x_{n-k+2} x_{n-k+1})^\alpha} - \frac{1}{x_{n-k}^{2\alpha}}, n = 0, 1, 2, \dots$$

where  $A_1, A_2, \dots, A_{k-1} \in [0, \infty)$  and  $A = \sum_{i=1}^{k-1} A_i - 1 > 0, \alpha > 0$ .

**Mathematics Subject Classification:** 39A10

**Keywords:** Equilibrium, asymptotic, positive solution, difference equation, nonoscillatory solution

## 1 Introduction

It is extremely difficult to understand throughly the global behaviours of solutions of rational difference equations although they have simple forms. We can refer to [1-3, 7-12], especially [1,3] for example to illustrate this.

The study of rational difference equations of order greater than one is quite challenging and rewarding because some prototypes for the development of the basic theory of the global behaviour of nonlinear difference equations of order greater than one come from the results for rational difference equations.

G. Ladas [7] proposed to study the rational difference equation

$$x_{n+1} = \frac{x_n + x_{n-1}x_{n-2} + a}{x_n x_{n-1} + x_{n-2} + a}, \quad n = 0, 1, 2, \dots \quad (1)$$

From then on, rational difference equations with the unique positive equilibrium  $\bar{x} = 1$  have received considerable attention, one can refer to [10-12] and the references cited therein.

Recently, Li [9] investigated the global behavior of the following fourth-order rational difference equation

$$x_{n+1} = \frac{x_n x_{n-1} x_{n-3} + x_n + x_{n-1} + x_{n-3} + a}{x_n x_{n-1} + x_n x_{n-3} + x_{n-1} x_{n-3} + 1 + a}, \quad n = 0, 1, 2, \dots \quad (2)$$

where  $a \in [0, \infty)$  and initial values  $x_{-3}, x_{-2}, x_{-1}, x_0 \in (0, \infty)$ .

In the note, we consider the following fourth-order rational difference equation

$$x_{n+1} = \frac{g(x_n, x_{n-1}, x_{n-2}, x_{n-3})x_n^{\alpha+1} + f(x_n, x_{n-1}, x_{n-2}, x_{n-3})}{g(x_n, x_{n-1}, x_{n-2}, x_{n-3})x_n^\alpha + f(x_n, x_{n-1}, x_{n-2}, x_{n-3})}, \quad n = 0, 1, 2, \dots \quad (3)$$

where  $f, g : (0, \infty)^4 \rightarrow (0, \infty)$  is arbitrary and differentiable,  $\alpha \geq 0$  and initial values  $x_{-3}, x_{-2}, x_{-1}, x_0 \in (0, \infty)$ .

It is easy to see that the positive equilibrium  $\bar{x}$  of Eq. (3) satisfies

$$\bar{x} = \frac{g(\bar{x}, \bar{x}, \bar{x}, \bar{x})\bar{x}^{\alpha+1} + f(\bar{x}, \bar{x}, \bar{x}, \bar{x})}{g(\bar{x}, \bar{x}, \bar{x}, \bar{x})\bar{x}^\alpha + f(\bar{x}, \bar{x}, \bar{x}, \bar{x})}$$

from which one can see that Eq. (3) has a unique positive equilibrium  $\bar{x} = 1$ .

## 2 Global behaviour of solutions

We need the following definition.

**Definition 2.1.** A solution  $\{x_n\}_{n=-3}^\infty$  of Eq. (3) is said to be eventually trivial if  $x_n$  eventually equal to  $\bar{x} = 1$ ; otherwise, the solution is said to be nontrivial.

Before to draw a qualitatively clear picture for the positive solutions of Eq. (3), we first establish a basic lemma which will play a key role in the proof of our main results.

**Lemma 2.1.** *Let  $\{x_n\}_{n=-3}^\infty$  be a nontrivial positive solution of Eq. (3). Then the following conclusions are true for  $n \geq 0$ :*

- (a)  $(x_{n+1} - 1)(x_{n-3} - 1) > 0$
- (b)  $(x_{n+1} - x_{n-3})(x_{n-3} - 1) < 0$ .

*Proof.* It follows in light of Eq. (3) that

$$x_{n+1} - 1 = \frac{(x_{n-3} - 1)g(x_n, x_{n-1}, x_{n-2}, x_{n-3})x_{n-3}^\alpha}{g(x_n, x_{n-1}, x_{n-2}, x_{n-3})x_{n-3}^\alpha + f(x_n, x_{n-1}, x_{n-2}, x_{n-3})}, \quad n = 0, 1, 2, \dots$$

and

$$x_{n+1} - x_{n-3} = \frac{(1 - x_{n-3})f(x_n, x_{n-1}, x_{n-2}, x_{n-3})}{g(x_n, x_{n-1}, x_{n-2}, x_{n-3})x_{n-3}^\alpha + f(x_n, x_{n-1}, x_{n-2}, x_{n-3})}, \quad n = 0, 1, 2, \dots$$

□

**Remark 2.1.** *If the initial conditions of the Eq. (3) satisfy  $x_k \neq 1, k = -3, -2, -1, 0$ , then, for any solution  $\{x_{4n+k}\}$  of Eq. (3),  $x_{4n+k} \neq 1, k = -3, -2, -1, 0$  for  $n \geq 0$ . It mean that*

- (a) *If  $x_k \neq 1, k = -3, -2, -1, 0$  then  $x_{4n+k} \neq 1$  for  $n \geq 0$ .*
- (a) *If  $x_k > 1, k = -3, -2, -1, 0$  then  $x_{4n+k} > 1$  for  $n \geq 0$ .*
- (a) *If  $x_k < 1, k = -3, -2, -1, 0$  then  $x_{4n+k} < 1$  for  $n \geq 0$ .*

**Theorem 2.1.** *Assume that  $\alpha \in [0, \infty), f, g : (0, \infty)^4 \rightarrow (0, \infty)$  are two functions differentiable and positive. Then the positive equilibrium of Eq. (3) is globally asymptotically stable.*

*Proof.* We must prove that the positive equilibrium point  $\bar{x} = 1$  of Eq. (3) is both locally asymptotically stable and globally attractive. The linearized equation of Eq. (3) about the positive equilibrium  $\bar{x} = 1$  is

$$y_{n+1} = 0.y_n + 0.y_{n-1} + 0.y_{n-2} + \frac{g(\bar{x}, \bar{x}, \bar{x}, \bar{x})}{g(\bar{x}, \bar{x}, \bar{x}, \bar{x}) + f(\bar{x}, \bar{x}, \bar{x}, \bar{x})}y_{n-3}, \quad n = 0, 1, 2, \dots$$

By virtue of ([7], Remark 1.3.7),  $\bar{x}$  is locally asymptotically stable. It remains to verify that every positive solution  $\{x_n\}_{n=-3}^\infty$  of Eq. (3) converges to  $\bar{x} = 1$  as  $n \rightarrow \infty$ . Namely, we want to prove

$$\lim_{n \rightarrow \infty} x_n = \bar{x} = 1 \tag{4}$$

If the initial values of the solution satisfy  $x_{-3} = x_{-2} = x_{-1} = x_0 = 1$ , then Lemma 2.1 says the solution is eventually equal to 1 and, of course, (4) holds.

Therefore, we assume in the following that the initial values of the solution do not satisfy  $x_{-3} = x_{-2} = x_{-1} = x_0 = 1$ . This mean that

$$(x_{-3}, x_{-2}, x_{-1}, x_0) \neq (1, 1, 1, 1).$$

Based on the Lemma 2.1 we see that one of the following sixteen cases must occur

- 1)  $x_{-3} \leq 1, x_{-2} \leq 1, x_{-1} \leq 1, x_0 \leq 1$ .
- 2)  $x_{-3} \leq 1, x_{-2} \leq 1, x_{-1} \leq 1, x_0 \geq 1$ .
- 3)  $x_{-3} \leq 1, x_{-2} \leq 1, x_{-1} \geq 1, x_0 \geq 1$ .
- 4)  $x_{-3} \leq 1, x_{-2} \leq 1, x_{-1} \geq 1, x_0 \leq 1$ .
- 5)  $x_{-3} \leq 1, x_{-2} \geq 1, x_{-1} \leq 1, x_0 \leq 1$ .
- 6)  $x_{-3} \leq 1, x_{-2} \geq 1, x_{-1} \leq 1, x_0 \geq 1$ .
- 7)  $x_{-3} \leq 1, x_{-2} \geq 1, x_{-1} \geq 1, x_0 \geq 1$ .
- 8)  $x_{-3} \leq 1, x_{-2} \geq 1, x_{-1} \geq 1, x_0 \leq 1$ .
- 9)  $x_{-3} \geq 1, x_{-2} \leq 1, x_{-1} \leq 1, x_0 \geq 1$ .
- 10)  $x_{-3} \geq 1, x_{-2} \leq 1, x_{-1} \leq 1, x_0 \leq 1$ .
- 11)  $x_{-3} \geq 1, x_{-2} \leq 1, x_{-1} \geq 1, x_0 \geq 1$ .
- 12)  $x_{-3} \geq 1, x_{-2} \leq 1, x_{-1} \geq 1, x_0 \leq 1$ .
- 13)  $x_{-3} \geq 1, x_{-2} \geq 1, x_{-1} \leq 1, x_0 \geq 1$ .
- 14)  $x_{-3} \geq 1, x_{-2} \geq 1, x_{-1} \leq 1, x_0 \leq 1$ .
- 15)  $x_{-3} \geq 1, x_{-2} \geq 1, x_{-1} \geq 1, x_0 \geq 1$ .
- 16)  $x_{-3} \geq 1, x_{-2} \geq 1, x_{-1} \geq 1, x_0 \leq 1$ .

If case 1) occurs from Lemma 2.1 a) we obtain  $x_{4n+k} \leq 1, k = 0, -1, -2, -3$  for  $n \geq 0$ . From b) of the Lemma 2.1 we have

$$x_{4n+k} \leq x_{4(n+1)+k} \leq 1.$$

The sequences  $\{x_{4n+k}\}_{n=0}^{\infty}, k = 0, -1, -2, -3$ , are increasing with upper bound 1. So the limits  $\lim_{n \rightarrow \infty} x_{4n} = P, \lim_{n \rightarrow \infty} x_{4n+1} = Q, \lim_{n \rightarrow \infty} x_{4n+2} = R, \lim_{n \rightarrow \infty} x_{4n+3} = L$  exist and are finite, too.

Nothing that

$$x_{4n+3} = \frac{g(x_{4n+2}, x_{4n+1}, x_{4n}, x_{4n-1})x_{4n-1}^{\alpha+1} + f(x_{4n+2}, x_{4n+1}, x_{4n}, x_{4n-1})}{g(x_{4n+2}, x_{4n+1}, x_{4n}, x_{4n-1})x_{4n-1}^{\alpha} + f(x_{4n+2}, x_{4n+1}, x_{4n}, x_{4n-1})}, n = 0, 1, 2, \dots$$

$$x_{4n+2} = \frac{g(x_{4n+1}, x_{4n}, x_{4n-1}, x_{4n-2})x_{4n-2}^{\alpha+1} + f(x_{4n+1}, x_{4n}, x_{4n-1}, x_{4n-2})}{g(x_{4n+1}, x_{4n}, x_{4n-1}, x_{4n-2})x_{4n-2}^{\alpha} + f(x_{4n+1}, x_{4n}, x_{4n-1}, x_{4n-2})}, n = 0, 1, 2, \dots$$

$$x_{4n+1} = \frac{g(x_{4n}, x_{4n-1}, x_{4n-2}, x_{4n-3})x_{4n-3}^{\alpha+1} + f(x_{4n}, x_{4n-1}, x_{4n-2}, x_{4n-3})}{g(x_{4n}, x_{4n-1}, x_{4n-2}, x_{4n-3})x_{4n-3}^{\alpha} + f(x_{4n}, x_{4n-1}, x_{4n-2}, x_{4n-3})}, n = 0, 1, 2, \dots$$

$$x_{4n} = \frac{g(x_{4n-1}, x_{4n-2}, x_{4n-3}, x_{4n-4})x_{4n-4}^{\alpha+1} + f(x_{4n-1}, x_{4n-2}, x_{4n-3}, x_{4n-4})}{g(x_{4n-1}, x_{4n-2}, x_{4n-3}, x_{4n-4})x_{4n-4}^{\alpha} + f(x_{4n-1}, x_{4n-2}, x_{4n-3}, x_{4n-4})}, n = 0, 1, 2, \dots$$

and taking the limit on both sides of those above equalities one can see that

$$T = \frac{g(R, Q, P, T)T^{\alpha+1} + f(R, Q, P, T)}{g(R, Q, P, T)T^\alpha + f(R, Q, P, T)} \Rightarrow T = 1.$$

$$R = \frac{g(Q, P, T, R)R^{\alpha+1} + f(Q, P, T, R)}{g(Q, P, T, R)R^{\alpha+1} + f(Q, P, T, R)} \Rightarrow R = 1.$$

$$Q = \frac{g(P, T, R, Q)Q^{\alpha+1} + f(P, T, R, Q)}{g(P, T, R, Q)Q^\alpha + f(P, T, R, Q)} \Rightarrow Q = 1.$$

$$P = \frac{g(T, R, Q, P)P^{\alpha+1} + f(T, R, Q, P)}{g(T, R, Q, P)P^\alpha + f(T, R, Q, P)} \Rightarrow P = 1.$$

Thus,  $P = Q = R = L = 1$ , we have (4).

If case 2) occurs:  $x_{-3} \leq 1, x_{-2} \leq 1, x_{-1} \leq 1, x_0 \geq 1$ . By the similar arguments, we have  $\{x_{4n+1}\}_{n=0}^\infty, \{x_{4n+2}\}_{n=0}^\infty, \{x_{4n+3}\}_{n=0}^\infty$  are increasing with upper bound 1, and  $\{x_{4n}\}_{n=0}^\infty$  is decreasing with lower bound 1. So, the limits

$$\lim_{n \rightarrow \infty} x_{4n} = P, \lim_{n \rightarrow \infty} x_{4n+1} = Q, \lim_{n \rightarrow \infty} x_{4n+2} = R, \lim_{n \rightarrow \infty} x_{4n+3} = L$$

exist and are finite, too. By the above similar method, we have  $P = Q = R = L = 1$ , too. All of the rest cases we obtain the same result  $\lim_{n \rightarrow \infty} x_n = \bar{x} = 1$ . □

### 3 Positive nonoscillatory solutions

In the paper we also show that the following difference equation

$$x_{n+1} = \frac{A_1}{(x_n x_{n-1})^\alpha} + \frac{A_2}{(x_{n-1} x_{n-2})^\alpha} + \dots + \frac{A_{k-1}}{(x_{n-k+2} x_{n-k+1})^\alpha} - \frac{1}{x_{n-k}^{2\alpha}}, \quad n = 0, 1, 2, \dots \tag{5}$$

where  $A_1, A_2, \dots, A_{k-1} \in [0, \infty)$  and  $A = \sum_{i=1}^{k-1} A_i - 1 > 0, \alpha > 0$ , initial values  $x_{-k}, x_{-k+1}, \dots, x_{-1}, x_0 \in (0, \infty)$ , has positive nonoscillatory solutions which converge to the positive equilibrium

$$\bar{x}^{2\alpha+1} = \sum_{i=1}^{k-1} A_i - 1 = A$$

$$\bar{x} = \sqrt[2\alpha+1]{\sum_{i=1}^{k-1} A_i - 1} = \sqrt[2\alpha+1]{A}$$

Note that the linearized equation of Eq. (5) about the positive equilibrium  $\bar{x} = \sqrt[2\alpha+1]{A}$  is

$$y_{n+1} = -\frac{\alpha A_1}{\bar{x}^{2\alpha+1}}y_n - \frac{\alpha(A_1 + A_2)}{\bar{x}^{2\alpha+1}}y_{n-1} - \cdots - \frac{\alpha(A_{k-2} + A_{k-1})}{\bar{x}^{2\alpha+1}}y_{n-k+2} - \\ - \frac{\alpha A_{k-1}}{\bar{x}^{2\alpha+1}}y_{n-k+1} + \frac{2\alpha}{\bar{x}^{2\alpha+1}}y_{n-k}, \quad n = 0, 1, 2, \dots$$

$$\bar{x}^{2\alpha+1}y_{n+1} + \alpha A_1 y_n + \alpha(A_1 + A_2)y_{n-1} + \cdots + \alpha(A_{k-2} + A_{k-1})y_{n-k+2} + \\ + \alpha A_{k-1}y_{n-k+1} - 2\alpha y_{n-k} = 0$$

The characteristic polynomial associated with Eq. (6) is

$$p(t) = \bar{x}^{2\alpha+1}t^{k+1} + \alpha A_1 t^k + \alpha(A_1 + A_2)t^{k-1} + \cdots + \alpha(A_{k-2} + A_{k-1})t^2 + \alpha A_{k-1}t - 2\alpha = 0 \quad (7)$$

Since  $p(0) = -2\alpha < 0$ ,  $p(1) = \bar{x}^{2\alpha+1} + 2\alpha(A_1 + A_1 + A_2 + A_{k-2} + A_{k-1} + A_{k-1} - 1) > 0$ .

$$p'(t) = (k+1)\bar{x}^{2\alpha+1}t^k + k\alpha A_1 t^{k-1} + \cdots + 2\alpha(A_{k-2} + A_{k-1})t + \alpha A_{k-1} > 0,$$

for  $t \in (0, 1)$  and  $\sum_{i=1}^{k-1} A_i - 1 > 0$ .

It follows that for  $\alpha \in (0, \infty)$  and  $\sum_{i=1}^{k-1} A_i - 1 = A > 0$ , there is a unique positive root  $t_0 \in (0, 1)$  of polynomial belonging to the interval  $(0, 1)$ . It means that

$$p(t_0) = \bar{x}^{2\alpha+1}t_0^{k+1} + \alpha A_1(t_0^k + t_0^{k-1}) + \cdots + \alpha A_{k-1}(t_0^2 + t_0) - 2\alpha = 0 \quad (8)$$

This fact motivated us to believe that there are solutions of Eq. (5) which have the following asymptotics

$$x_n = \bar{x} + at_0^n + o(t_0^n) \quad (9)$$

where  $a \in \mathbb{R}$  and  $t_0$  is the above mentioned root of Eq. (7). We solve the open problem, showing that such a solution exists, developing Berg's ideas in [4] which are based on the asymptotics. The asymptotics for solutions of difference equation have been investigated by L. Berg and S. Stević, see, for example [4-6], [8-12] and the reference therein. The problem is solved by constructing appropriate sequences  $y_n$  and  $z_n$  with

$$y_n \leq x_n \leq z_n \quad (10)$$

for sufficiently large  $n$ . In [4-6] some methods can be found for the construction of these bounds, see, also [7,8].

For (9) we expect that for  $k \geq 2$  such solutions have the first three members in their asymptotics in the following form

$$\varphi_n = \bar{x} + at^n + bt^{2n} \tag{11}$$

This is proved by developing Berg’s ideas in [4] which are based on asymptotics. We need the following result in the proof of main theorem. The proof of the following theorem can be found in [10-12].

**Theorem 3.1.** *Let  $f : I^{k+2} \rightarrow I$  be a continuous and nondecreasing function in each argument on the interval  $I \subset \mathbb{R}$ , and let  $\{y_n\}$  and  $\{z_n\}$  be sequences with  $y_n \leq z_n$  for  $n \geq n_0$  and such that*

$$y_{n-k} \leq f(n, y_{n-k+1}, \dots, y_{n+1}), f(n, z_{n-k+1}, \dots, z_{n+1}) \leq z_{n-k} \text{ for } n > n_0 + k - 1 \tag{12}$$

Then there is a solution of the following difference equation

$$x_{n-k} = f(n, x_{n-k+1}, \dots, x_{n+1}) \tag{13}$$

with property (10) for  $n \geq n_0$ .

**Theorem 3.2.** *For each  $\alpha > 0$  and  $\sum_{i=1}^{k-1} A_i - 1 = A > 0$  and  $A_1, A_2, \dots, A_{k-1} \in [0, \infty)$  there is a nonoscillatory solution of Eq. (5) converging to the positive equilibrium*

$$\bar{x} = \sqrt[2\alpha+1]{\sum_{i=1}^{k-1} A_i - 1} = \sqrt[2\alpha+1]{A}, \text{ as } n \rightarrow \infty.$$

*Proof.* First, Eq. (5) can be written in the form

$$x_{n-k} = \left[ \frac{A_1}{(x_n x_{n-1})^\alpha} + \frac{A_2}{(x_{n-1} x_{n-2})^\alpha} + \dots + \frac{A_{k-1}}{(x_{n-k+2} x_{n-k+1})^\alpha} - x_{n+1} \right]^{\frac{-1}{2\alpha}}$$

Setting

$$\begin{aligned} &F(x_{n-k}, x_{n-k+1}, \dots, x_n, x_{n+1}) = \\ &= \left[ \frac{A_1}{(x_n x_{n-1})^\alpha} + \frac{A_2}{(x_{n-1} x_{n-2})^\alpha} + \dots + \frac{A_{k-1}}{(x_{n-k+2} x_{n-k+1})^\alpha} - x_{n+1} \right]^{\frac{-1}{2\alpha}} - x_{n-k} \end{aligned} \tag{14}$$

We expect the solutions of Eq. (5) have the asymptotic appropriation (11).

$$\begin{aligned} &F(\varphi_{n-k}, \varphi_{n-k+1}, \dots, \varphi_n, \varphi_{n+1}) = \\ &= \left\{ \frac{A_1}{[(\bar{x} + at^n + bt^{2n})(\bar{x} + at^{n-1} + bt^{2n-2})]^\alpha} + \frac{A_2}{[(\bar{x} + at^{n-1} + bt^{2n-2})(\bar{x} + at^{2n-2} + bt^{2n-4})]^\alpha} + \dots \right\} \end{aligned}$$

$$\dots + \frac{A_{k-1}}{[(\bar{x} + at^{n-k+2} + bt^{2n-2k+4})(\bar{x} + at^{n-k+1} + bt^{2n-2k+2})]^\alpha - (\bar{x} + at^{n+1} + bt^{2n+2})} \left. \vphantom{\frac{A_{k-1}}{[\dots]^\alpha}} \right\}^{\frac{-1}{2\alpha}} - \bar{x} - at^{n-k} - bt^{2n-2k}.$$

$$F = \frac{a}{2\alpha t^k} [\bar{x}^{2\alpha+1} t^{k+1} \alpha A_1 (t^k + t^{k-1}) + \alpha A_2 (t^{k-1} + t^{k-2}) + \dots + \alpha A_{k-1} (t^2 + t) - 2\alpha] t^n + \tag{15}$$

$$+ \frac{b}{2\alpha t^{2k}} [\bar{x}^{2\alpha+1} t^{2k+2} \alpha A_1 (t^{2k} + t^{2k-2}) + \alpha A_2 (t^{2k-2} + t^{2k-4}) + \dots + \alpha A_{k-1} (t^4 + t^2) - 2\alpha] t^{2n} + \frac{a^2}{4\bar{x}} \left\{ \frac{1 + 2\alpha}{2} [A_1 (t^{-1} + 1) + A_2 (t^{-1} + t^{-2}) + \dots + A_{k-1} (t^{-k+2} + t^{-k+1}) + \frac{\bar{x}^{2\alpha+1}}{\alpha} t]^2 - \left[ (\alpha + 1) A_1 t^{-2} + (\alpha + 1) A_1 + 2\alpha A_1 t^{-1} + (\alpha + 1) A_2 t^{-4} + (\alpha + 1) A_2 t^{-2} + 2\alpha A_1 t^{-3} + \dots + (\alpha + 1) A_{k-1} t^{-2k+2} + (\alpha + 1) A_{k-1} t^{-2k} + 2\alpha A_{k-1} t^{-2k+1} \right] \right\} t^{2n} + o(t^{2n}).$$

Here

$$\bar{x}^{2\alpha+1} = \sum_{i=1}^{k-1} A_i - 1 = A$$

As mentioned earlier exists  $t_0 \in (0, 1)$  such that

$$p(t_0) = \bar{x}^{2\alpha+1} t_0^{k+1} + \alpha A_1 (t_0^k + t_0^{k-1}) + \alpha A_2 (t_0^{k-1} + t_0^{k-2}) + \dots + \alpha A_{k-1} (t_0^2 + t_0) - 2\alpha = 0$$

$$p(t_0^2) = \bar{x}^{2\alpha+1} t_0^{2k+2} + \alpha A_1 (t_0^{2k} + t_0^{2k-2}) + \alpha A_2 (t_0^{2k-2} + t_0^{2k-4}) + \dots + \alpha A_{k-1} (t_0^4 + t_0^2) - 2\alpha < 0$$

Posing in (15),  $t = t_0$ , we obtain

$$F = \frac{bp(t_0^2)t_0^{2n}}{2\alpha t_0^{2k}} + \frac{1}{4\bar{x}} \left\{ \frac{1 + 2\alpha}{2} \left[ A_1 (t_0^{-1} + 1) + A_2 (t_0^{-1} + t_0^{-2}) + \dots + A_{k-1} (t_0^{-k+2} + t_0^{-k+1}) + \frac{\bar{x}^{2\alpha+1}}{\alpha} t_0 \right]^2 - \left[ (\alpha + 1) A_1 t_0^{-2} + (\alpha + 1) A_1 + 2\alpha A_1 t_0^{-1} + (\alpha + 1) A_2 t_0^{-4} + (\alpha + 1) A_2 t_0^{-2} + 2\alpha A_1 t_0^{-3} + \dots + (\alpha + 1) A_{k-1} t_0^{-2k+2} + (\alpha + 1) A_{k-1} t_0^{-2k} + 2\alpha A_{k-1} t_0^{-2k+1} \right] \right\} t_0^{2n} + o(t_0^{2n}) = (Bb + C)t_0^{2n} + o(t_0^{2n}).$$

where

$$B = \frac{p(t_0^2)}{2\alpha t_0^{2k}} < 0$$

$$C = \frac{1}{4\bar{x}} \left\{ \frac{1 + 2\alpha}{2} \left[ A_1 (t_0^{-1} + 1) + A_2 (t_0^{-1} + t_0^{-2}) + \dots + A_{k-1} (t_0^{-k+2} + t_0^{-k+1}) + \frac{\bar{x}^{2\alpha+1}}{\alpha} t_0 \right]^2 - \right.$$



$$-\left[ (\alpha + 1)A_1t_0^{-2} + (\alpha + 1)A_1 + 2\alpha A_1t_0^{-1} + (\alpha + 1)A_2t_0^{-4} + (\alpha + 1)A_2t_0^{-2} + 2\alpha A_1t_0^{-3} + \dots + (\alpha + 1)A_{k-1}t_0^{-2k+2} + (\alpha + 1)A_{k-1}t_0^{-2k} + 2\alpha A_{k-1}t_0^{-2k+1} \right] \}.$$

Setting

$$H_{t_0}(q) = Bq + C = 0 \Rightarrow q_0 = -\frac{C}{B},$$

$$H'_{t_0}(q) = B < 0.$$

We obtain that there are  $q_1 < q_0$  and  $q_2 > q_0$  such that  $H_{t_0}(q_1) > 0, H_{t_0}(q_2) < 0, q_1 < q_0 < q_2$ . We assume that  $a \neq 0$ . If  $\widehat{\varphi}_n = \bar{x} + at_0^n + q_0t_0^{2n}$ , we obtain

$$F(\widehat{\varphi}_{n-k}, \widehat{\varphi}_{n-k+1}, \dots, \widehat{\varphi}_n, \widehat{\varphi}_{n+1}) \underset{n \rightarrow \infty}{\sim} [q_0B + C]t_0^{2n}.$$

With the notations

$$y_n = \bar{x} + at_0^n + q_1t_0^{2n}$$

$$z_n = \bar{x} + at_0^n + q_2t_0^{2n}.$$

We get

$$F(y_{n-k}, y_{n-k+2}, \dots, y_n, y_{n+1}) \sim [q_1B + C]t_0^{2n},$$

$$F(z_{n-k}, z_{n-k+2}, \dots, z_n, z_{n+1}) \sim [q_2B + C]t_0^{2n}.$$

These relations show that inequalities (12) are satisfied for sufficiently large  $n$ , where  $f = F + x_{n-k}$  and  $F$  is given by (14). Because the function  $f(x_{n-k+1}, x_{n-k+2}, \dots, x_n, x_{n+1})$  is continuous and nondecreasing on the interval  $[\bar{x}, +\infty)$ . We easily have  $f(\bar{x}, \bar{x}, \bar{x}, \bar{x}) = \bar{x}$ . We can apply Theorem 3.1 with  $I = [\bar{x}, +\infty)$  and see that there is an  $n_0 \geq 0$  and a solution of Eq. (5) with the asymptotics  $x_n = \widehat{\varphi}_n + o(t_0^{2n})$  for  $n \geq n_0$ , where  $b = q_0$  in  $\widehat{\varphi}_n$ . In particular, the solution converge monotonically to the positive equilibrium  $\bar{x} = \sqrt[2\alpha+1]{A}$ , for  $n \geq n_0$ . Hence, the solution  $x_{n+n_0+k}$  is also such a solution when  $n \geq -k$ .

The proof is complete. □

## Acknowledgements

We would like to extend our thanks to the Rector of Hung Yen University of Technology and Education for his supportation and encouragement to this paper.

## References

- [1] R. P. Agarwal, *Difference Equations and Inequalities*, Second Ed. Dekker, New York, 1992, 2000.

- [2] A. M. Amleh, E. A. Grove, D. A. Georgiou, G. Ladas, On the recursive sequence  $x_{n+1} = \alpha + \frac{x_{n-1}}{x_n}$ , *J. Math. Anal. Appl.* **233** (1999), 790-798.
- [3] A. M. Amleh, N. Kruse, G. Ladas, On a class of difference equations with strong negative feedback, *J. Difference. Equa. Appl.* **5** (1999), 497-515.
- [4] L. Berg, On the asymptotics of nonlinear difference equations, *Zeitschrift for Analysis and Ihre Anwendungen* **21** (2002), 1061-1074.
- [5] L. Berg, Inclusion theorems for nonlinear difference equations with applications, *J. Differ. Equations Appl.* **10** (2004), 399-408.
- [6] L. Berg, Corrections to "Inclusion theorems for nonlinear difference equations with applications", *J. Differ. Equations Appl.* **11**(2) (2005), 181-182.
- [7] V. L. Kocic, G. Ladas, *Global behavior of nonlinear difference equations of higher order with applications*, Kluwer Academic, Dordrecht, 1993.
- [8] G. Ladas, Progress report on  $x_{n+1} = \frac{\alpha + \beta x_n + \gamma x_{n-1}}{A + Bx_n + Cx_{n-1}}$ , *J. Difference. Equa. Appl.* **1** (1995), 211-215.
- [9] X. Li, Qualitative properties for a fourth-order rational difference equation, *J. Math. Anal. Appl.* **311** (2005), 103-111.
- [10] X. Li, The rule of trajectory structure and global asymptotic stability for a fourth-order rational difference equation, *J. Korean Math. Soc.* **44** (2007), 787-797.
- [11] S. Stević, Asymptotics of some classes of higher order difference equations, *Discrete Dyn. Nat. Soc.*, Vol. 2007, Article ID 56813, (2007), 20 pages.
- [12] S. Stević and K. Berenhaut, A note on positive nonoscillatory solutions of the difference equation  $x_{n+1} = \alpha + \frac{x_{n-k}^p}{x_n^p}$ , *J. Differ. Equations Appl.* **12** (2006), 495-499.

**Received: April, 2010**